Distributive Grid multiplication with two two-digit numbers (2x2)

Solutions are on page 2

@ 37x49=1,813 @ 99 x 55 = @) 50 x 29 =
30 7
1,200 tens
280 1,200 |280 40
222 270 |63 ges
1,813
@ 53 x 55 = (5) 11x74 = © 37x36=
™ 21 x 93 = ® 48 x 48 = © 33x70=
10 14 x 99 = (11) 37 x84 = 12) 96 x 69 =
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Distributive Grid multiplication with two two-digit numbers (2x2)

Also see video: '‘Multiplying Multi-Digit Numbers with the Distributive Grid Method'

@ 37x49=1,813

tens ones
30 7
1,200 tens
280 |1,200 |280 40
270 ones
63 |270 |63 9
+

1,813

@ 99 x 55 = 5,445

tens ones
90 9
4,500 tens
450 |4,500 (450 50
450 ones
25 |450 |45 5
+

5,445

@ 50 x 29 =1,450

tens ones
50 0
1,000 tens
0 1,000 (O 2 0
450 ones
o |450 o 9
+

1,450

@ 53 x55=2,915

tens ones

50 3
2,500 tens
150 (2,500 |150 50
250 ones
15 |[250 15 5
+

2,915

®) 11x74 =814

tens ones

10 1
700 tens
70 | 700 70 70
40 ones
4 |40 4 4
+

© 37 x36 =1,332

tens ones
30 7
900 tens
210 | 900 210 30
180 ones
42 |180 42 6
+

1,332

™ 21 x93 =1,953

tens ones

20 1
1,800 tens
90 |1,800 |90 90
60 ones
3 |60 3 3
+

1,953

® 48 x 48 = 2,304

tens ones

40 8
1,600 tens
320 |1,600 (320 40
320 ones
64 |320 64 8
+

2,304

© 33x70=2,310

tens ones

30 3
2,100 tens
210 |2,100 |[210 70
0 ones
o |© 0 0
+

2,310

(10) 14 x99 = 1,386

tens ones

10 4
900 tens
360 |900 360 90
90 ones
36 |90 36 9
+

1,386

(1) 37 x84 = 3,108

tens ones

30 7
2,400 tens
560 |2,400 |[560 80
120 ones
2g | 120 28 4
+

3,108

(12) 96 x 69 = 6,624

tens ones
90 6
5,400 tens
360 |5,400 (360 60
810 ones
54 |810 |54 9
+

6,624
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